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Paying attention to one thing necessarily comes at the expense of another. Letting your eyes get
too taken in by all of the scientific equipment in the laboratory [preventing/prevents] you from
noticing anything of significance about the man in that same room. We cannot allocate our attention
to multiple things at once and [expect/to expect] it to function at the same level as it would
[be/were] we to focus on just one activity. Two tasks cannot possibly be in the attentional focus at
the same time. One will inevitably end up being the focus, and [the other/the others] - or others -
more like irrelevant noise, something to be filtered out. Or worse still, none will have the focus and

all will be, although slightly [clearer/more clearly], noise, but degrees of noise all the same.
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Some tennis players believe that the first chance of serving is for trial and invariably [uses/use] the
second chance. The result is that they make a mistake with both serves quite often. Once you have
faltered in serving, there is no question of playing further. At times they commit a double fault at
such a crucial stage of the game [that/which] it becomes suicidal. The lesson to be learnt is that,
first of all, one should avoid committing mistakes in life and the opportunity should be grabbed in
the first instance itself. If a mistake has been [committing/committed], however, it should not be
repeated because life does not give you many chances. If you miss all your chances, you lose the
game of life. Therefore one has to be watchful in order to make use of the opportunities offered by
life. In no case should any opportunity [be/is] lost in the hope [that/which] more opportunities will

come.
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Since for the Egyptians the Nile was central for existence, it is natural to expect a variety of
recreations in and on the water. The management of the great river's gifts [was/were] the basis of
Egypt's security and its pleasures. Swimming was therefore not only a pleasure for the playful, but
also a necessity in case of an accident on the water. We have wall paintings of young girls
swimming below the surface [catch/to catch] water birds by surprise. Several museums have small
sculptures of silver or of wood in the form of girl swimmers who [are held/hold] in their
outstretched arms a container for ointments. Some documents suggest that swimming was required
for royal princes. [That/What] swimming was regularly taught [to be/is] also suggested by many
depictions of the crawl stroke - a form of swimming that is not natural to man and which was

invented again for competition less than a century ago.
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Scientific experiments should be designed to show that your hypothesis is wrong, and [is / should be]
conducted completely objectively with no possible subjective influence on the outcome. Unfortunately
few, if [any / everl], scientists are truly objective. They [have often decided / have been often
decided] long before the experiment is begun [what / that] they would like the result to be. This
means that very often bias is (unintentionally) introduced into the experiment, the experimental
procedure or the interpretation of results. It is all too easy to [be justified / justify] to yourself why an
experiment which does not fit with your expectations should be ignored, and why one which provides
the results you 'hoped for' [being / is] the right one. This can be partly avoided by conducting

experiments 'blinded' and by asking others to check your data or repeat experiments.
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The fact [that / which] we've heard a claim repeated over and over again doesn't make it correct.
But it can lead us to accept this claim as correct even when it's not, because we can confuse a
statement's familiarity with its accuracy. Advertisers who tell us repeatedly that "Seven of eight
dentists surveyed [recommended / recommending] Brightshine Toothpaste above all other brands!"
[employ / to employ] this principle without mercy. Furthermore, research [showing / shows] that
hearing one person [express / expressed] an opinion ("Joe Smith is the best qualified person to be
President!") 10 times can lead us to assume that this opinion is as widely held as hearing 10 people
express this opinion once. Hearing is often believing, especially when we hear a statement over and

over again.
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Anyone would be totally dismayed on hearing that many young people do not know the capital of
France or [thinking / think] that the Second World War was two hundred years ago. The shock is not
the lack of this specific knowledge itself but rather the fact [that / which] it is taken to be expressive
or indicative of a more general state of deep-seated ignorance, a set of qualities such as lack of
interest in [which / what] is around one, indifference and low self-expectation. If one imagined instead
a young person expressing interest in learning that Paris is the capital of France, and [going / went]
on to ask lots of questions about the city and what a capital is, then in this case, one would not feel
shock or horror, but rather surprise. The point is that the knowledge in itself is less important than the

state of mind that it illustrates.
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